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0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))
Vs w ) SEETREIEGE = WEIE X B4 X (ETEE + REER + RIER + MEER)
(REHmE) 0.300 m3 = 1.500 * 0.100 * (2.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 0.300 m3 = 0.300
B Ay e ) B = WHIELUE &
(g F) 4.260 m3 = 4.260
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HETEEEES : 27000700
IEES 04 IEEH |¢p75RFBKERELS I—+EE 02 —haF  |HEEERRTE
JE ] & # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

4.380 m3 = 1.500 * 1.460 * (2.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

AR A ) B = HE X (ETER + RIEER + RAER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) Bk = (GEHIE X ER - FEfE) X LTER) + (BHIE X Eh X (REEE + REER + HEER))
3.042 m3 = ((1.500 * 1.020 - 0.009) * 2.000) + (1.500 * 1.020 * (0.000 + 0.000 + 0.000))
FIEETHOR L . i = (EFEERIE X BA) - (FEEHEERE X Z8ES)) X MPHITEE + GFREHEER X ER) X (LTER + RIELEE + RELE + HEER)
0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))
Vs M Uy ) SREEHREISCR = HEE X EA X (ETHEE + KREE + RIBLEE + BELEE)
(BhiEHmH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
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BEHEEEES . 27000700 L4 E]
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GRS icl) 0.150 m3 = 0.150
R | [ - mEmUE LR
(4 4. 380 m3 = 4. 380
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JE ] & # " L @ S #H O H K

HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.550 = 0.550) * 0.000)) * 2.000

pER | B = HE X (ETIER + RIELER + RAER + fEER)
1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)

el B o= HE X B X (ETER + RELEE + RIEER + MEER)

0.473 m3 = 0.550 * 0.430 * (2.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

Bl = REE X (BTIER + RIEER + TR + MEER)

1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)

AR A ) B = HE X (ETER + RIEER + RAER + fEER)
1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) Bk = (GEHIE X ER - FEfE) X LTER) + (BHIE X Eh X (REEE + REER + HEER))
0.199 m3 = ((0.550 * 0.190 — 0.005) * 2.000) + (0.550 * 0.190 * (0.000 + 0.000 + 0.000))
v Aoy = . EEEIRHECE = EIE X EA X (LR + KGR + BiER + MEER)
(&g i) 0.055 m3 = 0.550 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
B Ay e ] B = HESEHIE LR R
(BhiEHmH) 0.055 m3 = 0.055
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BRASE | = R L
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HETEEEES : 27000700
IEES 04 IEEH |¢p75RFBKERELS I—+EE 04 —bEH  |HEEERRERE
JE ] & # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.550 = 0.550) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)
el B = (GEHE X ER - B X (ETER + fEER)) + GBHIE X ER X (RIEBLER + RETER))

0.425 m3 = ((0.550 * 0.390 — 0.002) * (2.000 + 0.000)) + (0.550 * 0.390 * (0.000 + 0.000))

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)

AR IR . o = HE X (ETIER + KR + RER + MAIER)
1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)
AR IR ) Bl = fEHIE X (R TR + RIEER + RIBER + MEAER)
1.100 m2 = 0.550 * (2.000 + 0.000 + 0.000 + 0.000)
HRHEIEO R L . o = HE X RS X (RTHER + RIIER + AURER + EER)
0.165 m3 = 0.550 * 0.150 * (2.000 + 0.000 + 0.000 + 0.000)
7RSSy TE | GEEHRE G = HHE X BER X (LTEE + KREER + WEEE + BELER)
€=l 0.055 m3 = 0.550 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
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BEEEEES : 27000700( L4 E]
IHEES 04 | THEAW |¢ISERBOKEAELE W—bES | 04 | -bEH  (EEEREEHE
el i A oo R
P LAy | [BoR - s
GRS icl) 0.055 m3 = 0. 055
P -LALsy | [EoR - R LR
(4 0.425 m3 = 0.425

BB A KE R



T I % E &t E E (& & % )
SRETEEHEES ¢ 27000700 [ L#)EREHE]
TEES 05 IHEEM |(RBHHBKEIS —+&S 01 W—tEH  |RExiGKERMAEIR
=gl & GRS PR 1| B RV
H ) . B = HEIE X EA X (TR + KITE + AILE + MEER)
1.000 m3 = 1.000 * 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
H ) ) o = HHE X BEH X (LTIEE + KRIEEE + REEE + MEER)
0.220 m3 = 1.000 * 0.220 * (1.000 + 0.000 + 0.000 + 0.000)
TEHIH D R L | ok = WHIIE X BEZ X (LTIEE + REEE + REE + MEER)
1.000 m3 = 1.000 * 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
TRHIH D R L ) B = HEIE X EA X (ETER + KITR + AILRE + MEER)
0.220 m3 = 1.000 * 0.220 * (1.000 + 0.000 + 0.000 + 0.000)
Vs mw Uy . Ko = WHIE2E LR
(i H1) 0.220 m3 = 0.220
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HETEEEES : 27000700
IEES 07 IEAH |p100KEARAETIS —+&S 01 W—haH  |EEEEARYE
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

4.410 m3 = 1.500 * 1.470 * (2.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

AR IR | Bk = EHIE < (BETER + REER + RIBER + WMEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
AR IR ) B = HHIE X (ET3ER + RMIER + SURIER + WEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
PREIHE DB L ) Bk = fEHIE X JEA X (BET3ER + RIEER + RIBER + MEER)
1.740 m3 = 1.500 * 0.580 * (2.000 + 0.000 + 0.000 + 0.000)
TEEI DR L ) B = (GEHIE < B4 - FEED) X LTHER) + GRAIE X EZ X (RIER + RiER + MEIER))

0.938 m3 = ((1.500 * 0.320 — 0.011) * 2.000) + (1.500 * 0.320 * (0.000 + 0.000 + 0.000))
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BHETEES . 27000700[ L) E]

TEES 07 IiEEM |P100kKEAEIE —+&S 01 V—r2H  |EEEEARRTE
JE R & #o% om0 FH H K
FIETHOR L . i = (EFEERIE X BA) - (FEEHERE X Z8ES)) X MPETEE + GFREHEERE X ER) X (LTER + RIEPLEE + RELE + HEER)
0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))
Vs w ) SEETREIEGE = WEIE X B4 X (ETEE + REER + RIER + MEER)
(REHmE) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 0.150 m3 = 0.150
B Ay e ) B = WHIELUE &
(g F) 4.410 m3 = 4.410
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HETEEEES : 27000700
IEES 07 IEAH |p100KEARAETIS —+&S 02 W—haH | TEEEARTE
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

4.410 m3 = 1.500 * 1.470 * (2.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

AR IR | Bk = EHIE < (BETER + REER + RIBER + WMEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
AR IR ) B = HHIE X (ET3ER + RMIER + SURIER + WEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
PREIHE DB L ) Bk = fEHIE X JEA X (BET3ER + RIEER + RIBER + MEER)
2.130 m3 = 1.500 * 0.710 * (2.000 + 0.000 + 0.000 + 0.000)
TEEI DR L ) B = (GEHIE < B4 - FEED) X LTHER) + GRAIE X EZ X (RIER + RiER + MEIER))

0.938 m3 = ((1.500 * 0.320 — 0.011) * 2.000) + (1.500 * 0.320 * (0.000 + 0.000 + 0.000))
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JE R & #o% om0 FH H K
FIETHOR L . i = (EFEERIE X BA) - (FEEHERE X Z8ES)) X MPETEE + GFREHEERE X ER) X (LTER + RIEPLEE + RELE + HEER)
0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))
Vs w ) SEETREIEGE = WEIE X B4 X (ETEE + REER + RIER + MEER)
(REHmE) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 0.150 m3 = 0.150
B Ay e ) B = WHIELUE &
(g F) 4.410 m3 = 4.410
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BREtEEHEES ¢ 27000700

IEES 07 TiELH |[P100KEAETSE I—IES 03 W= 2% |[EEEERZERR
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ST i = (ET3ER + RV IER + BEER + fRER) + (GRTFIRANE - S@imdiE) < MRREITE)) X SIErmEE

320.000 m = ((160.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

S ol = REE X (BTIER + RIEER + TR + MEER)

96.000 m2 = 0.600 * (160.000 + 0.000 + 0.000 + 0.000)

H A Bl = REE X JEA X (ETER + RIER + BURIER + EER)

126.720 m3 = 0.600 * 1.320 * (160.000 + 0.000 + 0.000 + 0.000)

SIS Bl = REE X (BTIER + RIEER + TR + MEER)

96.000 m2 = 0.600 * (160.000 + 0.000 + 0.000 + 0.000)

AR IH i = R X (ETHER + AR + RER + HRER)

96.000 m2 = 0.600 * (160.000 + 0.000 + 0.000 + 0.000)

AR IH o = REE X (BTIER + REER + TR + MEER)

96.000 m2 = 0.600 * (160.000 + 0.000 + 0.000 + 0.000)

AP B L i = R X BEA X (ETHER + AMEER + RUlER + HRIER)

55.680 m3 = 0.600 * 0.580 * (160.000 + 0.000 + 0.000 + 0.000)

AT DB L g = (@RHIE X B - FEA) X LTER) + GEHE X ER X (REEE + RiEE + fEER))

28.960 m3 = ((0.600 * 0.320 — 0.011) * 160.000) + (0.600 * 0.320 * (0.000 + 0.000 + 0.000))
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REAEEEES . 27000700 [ H4)EEETE]
IEES 07 IfEAH |[P100KEREIS —+ES 03 —+8FH |[EEEERREMK
JE R & #o% om0 FH H K
FIETHOR L . i = (EFEERIE X BA) - (FEEHERE X Z8ES)) X MPETEE + GFREHEERE X ER) X (LTER + RIEPLEE + RELE + HEER)
4.800 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (160.000 + 0.000 + 0.000 + 0.000))
Vs w ) EEEIRHSE = EE X B X (ELER + RiER + JER + MEER)
(REHmE) 4.800 m3 = 0.600 * 0.050 * (160.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 4.800 m3 = 4.800
B Ay e ) B = WHIELUE &
(g F) 126. 720 m3 = 126. 720
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BREtEEHEES ¢ 27000700
TEES 07 IiEEM |P100kKEAEIE —+&S 04 W—rBH  |TEEEARRMER
JE R & #o% om0 FH H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
14.000 m = ((7.000 + 0.000 + 0.000 + 0.000) + ((0.550 — 0.550) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.850 m2 = 0.550 * (7.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

5.082 m3 = 0.550 * 1.320 * (7.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

3.850 m2 = 0.550 * (7.000 + 0.000 + 0.000 + 0.000)

AR IR | Bk = EHIE < (BETER + REER + RIBER + WMEER)
3.850 m2 = 0.550 * (7.000 + 0.000 + 0.000 + 0.000)
AR IR ) B = HHIE X (ET3ER + RMIER + SURIER + WEER)
3.850 m2 = 0.550 * (7.000 + 0.000 + 0.000 + 0.000)
PREIHE DB L ) Bk = fEHIE X JEA X (BET3ER + RIEER + RIBER + MEER)
2.733 m3 = 0.550 * 0.710 * (7.000 + 0.000 + 0.000 + 0.000)
TEEI DR L ) B = (GEHIE < B4 - FEED) X LTHER) + GRAIE X EZ X (RIER + RiER + MEIER))

1.155 m3 = ((0.550 * 0.320 — 0.011) * 7.000) + (0.550 * 0.320 * (0.000 + 0.000 + 0.000))
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BHETEES . 27000700[ L) E]

TEES 07 IiEEM |P100kKEAEIE —+&S 04 W—rBH  |TEEEARRMER
JE R & #o% om0 FH H K
FIETHOR L . i = (EFEERIE X BA) - (FEEHERE X Z8ES)) X MPETEE + GFREHEERE X ER) X (LTER + RIEPLEE + RELE + HEER)
0.192 m3 = ((0.550 * 0.000) — (0.550 * 0.000)) * 0.000 + ((0.550 * 0.050) * (7.000 + 0.000 + 0.000 + 0.000))
Vs w ) SEETREIEGE = WEIE X B4 X (ETEE + REER + RIER + MEER)
(REHmE) 0.192 m3 = 0.550 * 0.050 * (7.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 0.192 m3 = 0.192
B Ay e ) B = WHIELUE &
(g F) 5.082 m3 = 5. 082
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BREtEEHEES ¢ 27000700

IEES 07 TiELH |[P100KEAETSE I—IES 05 W= 2%  |EEEESRERE
A & O S T R T SIS

ST i = (ET3ER + RV IER + BEER + fRER) + (GRTFIRANE - S@imdiE) < MRREITE)) X SIErmEE

192.202 m = ((0.000 + 0.000 + 0.000 + 96.101) + ((0.600 — 0.600) * 0.000)) * 2.000

S ol = REE X (BTIER + RIEER + TR + MEER)

57.660 m2 = 0.600 * (0.000 + 0.000 + 0.000 + 96.101)

H A Bk = (GEHIE X BEA - B X (ETIER + #MEER) + (REE X EA X (RIFIER + REER))

69.288 m3 = ((0.600 * 1.210 — 0.005) * (0.000 + 96.101)) + (0.600 * 1.210 * (0.000 + 0.000))

SIS Bl = REE X (BTIER + RIEER + TR + MEER)

57.660 m2 = 0.600 * (0.000 + 0.000 + 0.000 + 96.101)

AR IH i = R X (ETHER + AR + RER + HRER)

57.660 m2 = 0.600 * (0.000 + 0.000 + 0.000 + 96.101)

AR IH o = REE X (BTIER + REER + TR + MEER)

57.660 m2 = 0.600 * (0.000 + 0.000 + 0.000 + 96.101)

AP B L i = R X BEA X (ETHER + AMEER + RUlER + HRIER)

48.434 m3 = 0.600 * 0.840 * (0.000 + 0.000 + 0.000 + 96.101)

7RSSy TE | EREREI R = HEE X BES X (RTHER + KEER + AIRER + EER)
€=l 2.883 m3 = 0.600 * 0.050 * (0.000 + 0.000 + 0.000 + 96.101)
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HEESEEFS : 27000700[ H#ERETE]

IEES 07 TiELH |[P100KEAETSE I—IES 05 W= 2%  |EEEESRERE

JE =] 7 " JL 151] 7 B =
ALy E . Yo = AEEIREIE B LS
(BRI 2.883 m3 = 2.883
5% ALy ) Y = HEIELE TR

() 69. 288 m3 = 69. 288
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RETEEEES . 27000700[ L #0E%EHE]
IEES 07 IEAH |p100KEARAETIS —+&S 06 W—rEH  |EEHEAER
JETER JEi i H L i s KX
(ke . B = AMEBmEE - A i
152. 610 m2 = 152.610 - 0. 000
el | B = (RMEIREE - (HREEE) X &
7.630 m3 = (152.610 — 0.000) * 0. 050
HAEAIE IR . BoE = AMERmEE - A i
152. 610 m2 = 152.610 - 0. 000
R R ) B = AMEIEE - s

1562. 610 m2 = 152.610 — 0. 000

P Aoy E

Bl = WHIZBUE L&

()

7.630 m3 = 7.630
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BHETEES . 27000700[ L) E]

ITHEES 07 IR |[P100KkEREILSE I—+ES 07 W=t |EEAEIA—N—LA
] i #omOAL m /B B R
AR 1) Yo = AEIHEE - A akinmfE

826. 322 m2 = 826.322 — 0.000

HEAEIR Bl = ANMEIREE - fradEmE

826. 322 m2 = 826.322 — 0.000

AT E . SRR R = ORMEIRmRR - fHadimi) X B
€ =) 41.316 m3 = (826.322 — 0.000) * 0.050
RS ) Ko = HEIRAI L R

€=l 41.316 m3 = 41.316
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BHETEES . 27000700[ L) E]
ITHEES 07 IR |[P100KkEREILSE I—+ES 08 I—haH  |TEHEAER
JE TR J& & B m S R -
AR 1) . Yo = AEIHEE - A akinmfE
29.506 m2 = 29.506 - 0.000
HITEAREIR | g = AMEIRmRE - AR mfE
29.506 m2 = 29.506 - 0.000
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HETEEEES : 27000700
IEES 07 IEAH |p100KEARAETIS —+&S 09 W—t2H  |EEEERRESE
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

3.300 m3 = 1.000 * 1.100 * (3.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)

AR IR | Bk = EHIE < (BETER + REER + RIBER + WMEER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
AR IR ) B = HHIE X (ET3ER + RMIER + SURIER + WEER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
PREIHE DB L ) Bk = fEHIE X JEA X (BET3ER + RIEER + RIBER + MEER)
1.740 m3 = 1.000 * 0.580 * (3.000 + 0.000 + 0.000 + 0.000)
TEEI DR L » B = EHIE X JEA X (RTHER + RIEER + RIBER + MELER)

0.600 m3 = 1.000 * 0.200 * (3.000 + 0.000 + 0.000 + 0.000)

BB A KIE R



T I %K E B EE (B )
RETEEEES . 27000700[ L #0E%EHE]
IEES 07 IEAH |p100KEARAETIS —+&S 09 —+8% |EEEERRERRE
JETER JEi i K Y P 7/ s KX
V5w Aoy | EEEIRH R = WEIE X B X (ELER + RiER + BiER + MEER)
(&A1) 0.300 m3 = 1.000 * 0.100 * (3.000 + 0.000 + 0.000 + 0.000)
B Ay e ) B = HESENIE LR R
(& A ) 0.300 m3 = 0.300
v Aoy ) B = A LUE L&
G 3.300 m3 = 3.300

BB A KIE R



T I % &8 & 8 & (8 & %)

HETEEEES : 27000700
IEES 08 IEEM [(fKEISE I—+EE 01 W—hEF  |EEEERKEME
JE ] & # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

0.702 m3 = 0.600 * 1.170 * (1.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

i = fEEE X (ETHER + KR + RUER + HERER)

0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)

AR IR | Bk = EHIE < (BETER + REER + RIBER + WMEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
AR IR ) B = HHIE X (ET3ER + RMIER + SURIER + WEER)
0.600 m2 = 0.600 * (1.000 + 0.000 + 0.000 + 0.000)
PREIHE DB L ) Bk = fEHIE X JEA X (BET3ER + RIEER + RIBER + MEER)
0.348 m3 = 0.600 * 0.580 * (1.000 + 0.000 + 0.000 + 0.000)
TEEI DR L » B = EHIE X JEA X (RTHER + RIEER + RIBER + MELER)

0.132 m3 = 0.600 * 0.220 * (1.000 + 0.000 + 0.000 + 0.000)

BB A KIE R



T I % E %+ E E (§ B % )
BHETEES . 27000700[ L) E]

IEES 08 THEAH |[HKEIE —+ES 01 V-2 |EEEERKEMR
JE R J& #o% om0 FH H K
FIETHOR L . i = (EFEERIE X BA) - (FEEHERE X Z8ES)) X MPETEE + GFREHEERE X ER) X (LTER + RIEPLEE + RELE + HEER)
0.030 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (1.000 + 0.000 + 0.000 + 0.000))
Vs w ) SEETREIEGE = WEIE X B4 X (ETEE + REER + RIER + MEER)
(REHmE) 0.060 m3 = 0.600 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000)
v Aoy . B = HEEEHIE LR LR
(BbEHmE) 0.060 m3 = 0.060
B Ay e ) B = WHIELUE &
(g F) 0.702 m3 = 0.702

- 26 - kT A KE R/



T I % &8 & 8 & (8 & %)

HETEEEES : 27000700
IEES 08 THEAH |[HKEIE —+ES 02 W—r2H  |fRKERMANER
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 4.000
pER | B = HE X B X (ETER + REEE + RAiER + MEER)
0.100 m3 = 1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

1.170 m3 = 1.000 * 1.170 * (1.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

BB = fEEE X BEA X (ETHER + AR + AR + MRIER)

0.100 m3 = 1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000)

AR A ) B = HE X (ETER + RIEER + RAER + fEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAiEER + MEER)
0.970 m3 = 1.000 * 0.970 * (1.000 + 0.000 + 0.000 + 0.000)
FIEETHOR L . i = (EFEERIE X BA) - (FEEHEERE X Z8ES)) X MPHITEE + GFREHEER X ER) X (LTER + RIELEE + RELE + HEER)
0.050 m3 = ((1.000 * 0.000) — (1.000 * 0.000)) * 0.000 + ((1.000 * 0.050) * (1.000 + 0.000 + 0.000 + 0.000))
B Ay e ] B = HESEHIE LR R
(BhiEHmH) 0.100 m3 = 0.100

BB A KIE R



B E M B ( 8t & % )
RETETEES 27000700
IEES 08 IHEAW [HKEIS I—IES 02 I—bEH  |[HRKERMREIR
JeE e 1) J& % L w S F oK
ALy E . o = WHIE B L E
(1) 1.170 m3 = 1.170
— 28 —

BT T AOKIE R




RERFES

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)
EEYIE| A — /R — L A 978. 932 152. 610 0. 000 826. 322
2| /S| E—F & (m) Mz 0miE(m) | miED Ri(m)

At | (193) =5 (A) 3. 700 (B) 1.222 (C) 3.947 2.258 2.258
(194) (A) 3. 947 (B) 2.574 (C) 5. 557 4.593 6. 851
(195) (A) 5. 557 (B) 2. 657 (C) 7.876 4. 269 11.120
(196) (A) 7.876 (B) 2. 464 (C) 10. 256 2. 864 13. 984
(197) (A) 10. 256 (B) 1. 696 (C) 11.920 1.812 15. 796
(198) (A) 11.920 (B) 3. 020 (C) 14. 937 0. 897 16. 693
(199) (A) 3. 435 (B) 18. 412 (C) 18. 731 31. 622 48.315
(200) (A) 1.259 (B) 6. 909 (C) 8. 069 1.825 50. 140
(201) (A) 8. 069 (B) 5. 180 (C) 13.117 5. 967 56. 107
(202) (A) 13.117 (B) 5. 440 (C) 18. 383 10. 586 66. 693
(203) (A) 18. 383 (B) 5.217 (C) 23. 383 15. 425 82.118
(204) (A) 23. 383 (B) 0. 564 (C) 23. 672 5. 697 87.815
(205) (A) 23.672 (B) 6. 435 (C) 29. 492 36. 219 124. 034
(206) (A) 29. 492 (B) 5. 494 (C) 34. 766 24. 635 148. 669
(207) (A) 34. 766 (B) 6. 278 (C) 40. 977 17. 261 165. 930
(208) (A) 40. 977 (B) 5.271 (C) 46. 244 4. 468 170. 398
(209) (A) 18. 731 (B) 46. 244 (C) 61. 796 277. 704 448. 102
(210) (A) 61. 796 (B) 4. 401 (C) 66. 181 11.988 460. 090
(211) (A) 66. 181 (B) 3. 247 (C) 69. 426 3.861 463. 951
(212) (A) 0.926 (B) 2.954 (C) 3. 807 0. 603 464. 554
(213) (A) 3. 807 (B) 4. 980 (C) 8. 752 1. 698 466. 252
(214) (A) 8. 752 (B) 2.329 (C) 11.029 2. 403 468. 655
(215) (A) 11.029 (B) 3. 637 (C) 14. 479 7. 266 475. 921
(216) (A) 14. 479 (B) 7. 660 (C) 21. 657 23.610 499. 531
(217) (A) 21. 657 (B) 16.515 (C) 37. 227 77. 806 577. 337
(218) (A) 12. 720 (B) 2. 300 (C) 12.993 14. 621 591. 958
(219) (A) 12.949 (B) 2.563 (C) 13.210 16. 594 608. 552
(220) (A) 13. 210 (B) 8. 709 (C) 5. 061 12. 337 620. 889
(221) (A) 5.061 (B) 12.776 (C) 8.821 16.575 637. 464
(222) (A) 8. 821 (B) 8.792 (C) 17. 410 11. 605 649. 069
(223) (A) 17. 410 (B) 7. 654 (C) 25.010 9. 466 658. 535
(224) (A) 25.010 (B) 4. 662 (C) 29. 669 2.277 660. 812
(225) (A) 12.993 (B) 29. 669 (C) 17. 408 48. 636 709. 448
(226) (A) 17. 408 (B) 3.198 (C) 20. 601 1.692 711. 140
(227) (A) 37. 227 (B) 20. 601 (C) 16. 634 7.142 718. 282
(228) (A) 16. 634 (B) 5. 024 (C) 11.732 7. 680 725. 962
(229) (A) 11.732 (B) 4.926 (C) 7.461 11.382 737. 344
(230) (A) 11.377 (B) 11. 305 (C) 22. 672 3.817 741. 161
(231) (A) 7.461 (B) 22.672 (C) 17.787 56. 063 797. 224
(232) (A) 5.918 (B) 14. 504 (C) 20. 408 3. 499 800. 723
(233) (A) 17.787 (B) 20. 408 (C) 38. 001 36. 439 837. 162
(234) (A) 38. 001 (B) 10. 589 (C) 48. 582 8. 841 846. 003
(235) (A) 69. 426 (B) 48. 582 (C) 20. 845 5.928 851. 931
(236) (A) 20. 845 (B) 3. 939 (C) 16.912 2. 040 853. 971

EHBHARKER




RERFES

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)
EEYIE| A — /R — L A 978. 932 152. 610 0. 000 0. 000 826. 322

2| /S| E—F & (m) Mz 0miE(m) | miED Ri(m)
(237) (A) 10. 303 (B) 16.912 (C) 26.918 26. 157 880. 128
(238) (A) 5. 235 (B) 26.918 (C) 32. 127 7.661 887. 789
(239) (A) 32. 127 (B) 8. 043 (C) 24. 098 6. 599 894. 388
(240) (A) 24. 098 (B) 7.613 (C) 16. 595 12. 886 907. 274
(241) (A) 11.912 (B) 4. 981 (C) 16. 879 2. 645 909. 919
(242) (A) 16. 879 (B) 3. 174 (C) 19. 905 8.776 918. 695
(243) (A) 19. 905 (B) 1. 499 (C) 21. 299 5.673 924. 368
(244) (A) 21.299 (B) 3. 695 (C) 24. 755 15. 003 939. 371
(245) (A) 24. 755 (B) 4. 204 (C) 28. 455 26. 467 965. 838
(246) (A) 16. 595 (B) 28. 455 (C) 11. 865 3. 742 969. 580
(247) (A) 14. 937 (B) 11.865 (C) 3.361 9. 064 978. 644
(248) (A) 1.981 (B) 1.398 (C) 3. 361 0. 288 978. 932
1RiE 61) =R (A) 1. 000 (B) 1. 500 (C) 1. 803 0. 750 0. 750
(62) (A) 1.803 (B) 1.000 (C) 1.500 0. 750 1. 500
(63) =R (A) 1. 174 (B) 0.416 (C) 1.529 0. 144 1. 644
(64) (A) 1.529 (B) 4. 986 (C) 6. 410 1.572 3.216
(65) (A) 6. 410 (B) 4. 986 (C) 11.391 0.953 4. 169
(66) (A) 4.998 (B) 5. 008 (C) 10. 006 0. 000 4. 169
67) (A) 10. 006 (B) 5.014 (C) 15.017 1. 062 5. 231
(68) (A) 15. 017 (B) 5.014 (C) 20.017 3. 245 8. 476
(69) (A) 20.017 (B) 3.675 (C) 23. 676 3.728 12. 204
(70) (A) 4.995 (B) 5. 006 (C) 10. 000 0. 353 12. 557
(71) (A) 10. 000 (B) 5.011 (C) 15.010 0.613 13.170
(72) (A) 15. 010 (B) 10. 005 (C) 24. 999 5. 477 18. 647
(73) (A) 24. 999 (B) 10. 005 (C) 35. 002 2.958 21. 605
(74) (A) 0. 282 (B) 35. 002 (C) 35. 284 0. 000 21. 605
(75) (A) 5.015 (B) 5.001 (C) 10.013 0.613 22.218
(76) (A) 9. 997 (B) 5. 010 (C) 15. 007 0. 000 22.218
(77) (A) 15. 007 (B) 1.677 (C) 16. 681 0.793 23.011
(78) (A) 16. 681 (B) 0. 287 (C) 16. 959 0. 599 23.610
(79) (A) 10.013 (B) 16. 959 (C) 26. 972 0. 000 23.610
(80) (A) 5. 167 (B) 0.297 (C) 5. 459 0. 144 23. 754
(81) (A) 5.016 (B) 5.016 (C) 10. 028 0.710 24. 464
(82) (A) 10. 028 (B) 5.016 (C) 15. 034 1.943 26. 407
(83) (A) 10.010 (B) 18. 502 (C) 28.512 0. 000 26. 407
(84) (A) 28.512 (B) 0. 600 (C) 28.515 8.553 34. 960
(85) (A) 28.515 (B) 18. 498 (C) 10. 024 4. 300 39. 260
(86) (A) 10. 024 (B) 9. 990 (C) 0. 600 2.995 42. 255
(87) (A) 0. 600 (B) 4. 984 (C) 5. 036 1. 494 43. 749
(88) (A) 5. 036 (B) 4. 984 (C) 10. 015 0. 792 44. 541
(89) (A) 15. 034 (B) 10.015 (C) 5. 036 2.536 47. 077
(90) (A) 5. 036 (B) 4. 984 (C) 0. 600 1. 494 48. 571
91) (A) 0. 600 (B) 0.223 (C) 0. 646 0. 066 48. 637
(92) (A) 5. 459 (B) 0. 646 (C) 5. 143 1. 490 50. 127




Kiak

HE

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)
EEYIE| A — /R — L A 978. 932 152. 610 0. 000 0. 000 826. 322
2| /S| E—F & (m) Mz 0miE(m) | miED Ri(m)

(93) (A) 5.113 (B) 0.233 (C) 5. 346 0. 000 50. 127
(94) (A) 5. 143 (B) 5. 346 (C) 0. 642 1.594 51. 721
(95) (A) 0. 642 (B) 1. 603 (C) 2.018 0. 436 52. 157
(96) (A) 26.972 (B) 2.018 (C) 25. 007 5. 966 58. 123
97) (A) 25. 007 (B) 4.990 (C) 20.018 1. 117 59. 240
(98) (A) 10. 003 (B) 4.999 (C) 14. 999 1. 060 60. 300
(99) (A) 20.018 (B) 14. 999 (C) 5. 037 3. 685 63. 985
(100) (A) 5. 037 (B) 4. 985 (C) 0. 600 1. 494 65. 479
(101) (A) 9.995 (B) 9.995 (C) 19. 989 0. 999 66. 478
(102) (A) 0. 600 (B) 19. 989 (C) 20. 008 5. 995 72. 473
(103) (A) 35. 284 (B) 20. 008 (C) 15. 276 0. 000 72. 473
(104) (A) 15. 276 (B) 4. 989 (C) 10. 288 0. 626 73. 099
(105) (A) 10. 288 (B) 4. 994 (C) 5. 307 1.330 74. 429
(106) (A) 5. 005 (B) 0.238 (C) 5. 243 0. 000 74. 429
(107) (A) 5. 307 (B) 5. 243 (C) 0. 603 1.578 76. 007
(108) (A) 0. 603 (B) 3. 605 (C) 3.712 1.081 77.088
(109) (A) 3.712 (B) 4. 986 (C) 8. 683 1. 096 78. 184
(110) (A) 23. 676 (B) 8. 683 (C) 14. 994 1.241 79. 425
(111) (A) 14. 994 (B) 4. 986 (C) 10. 008 0. 000 79. 425
(112) (A) 10. 187 (B) 10. 008 (C) 20. 190 2. 268 81. 693
(113) (A) 20. 190 (B) 4,992 (C) 15. 202 1. 750 83. 443
(114) (A) 5. 002 (B) 10. 313 (C) 15. 314 0. 628 84. 071
(115) (A) 15. 202 (B) 15. 314 (C) 0.612 4. 589 88. 660
(116) (A) 3.372 (B) 0.612 (C) 3. 543 1.011 89. 671
(117) (A) 11.391 (B) 3. 543 (C) 14. 903 3. 046 92. 717
(118) (A) 3. 508 (B) 5.014 (C) 8.518 0. 547 93. 264
(119) (A) 8.518 (B) 5.014 (C) 13.526 1.315 94. 579
(120) (A) 13. 526 (B) 0.184 (C) 13. 709 0. 130 94. 709
(121) (A) 14. 903 (B) 13.709 (C) 1. 194 0. 000 94. 709
(122) (A) 0.576 (B) 0. 725 (C) 1.194 0. 153 94. 862
(123) =5 (A) 30. 445 (B) 0. 600 (C) 30. 451 9.133 103. 995
(124) (A) 30. 451 (B) 30. 427 (C) 0. 600 9.123 113.118
(125) (A) 0. 600 (B) 19. 312 (C) 19. 339 5. 791 118.909
(126) (A) 19. 384 (B) 19. 339 (C) 0. 602 5. 810 124. 719
(127) (A) 8. 605 (B) 0. 602 (C) 8.572 2.579 127. 298
(128) (A) 8.572 (B) 8. 489 (C) 0. 603 2. 545 129. 843
(129) (A) 9. 893 (B) 0. 603 (C) 9. 850 2.967 132. 810
(130) (A) 9. 850 (B) 9. 788 (C) 0. 602 2.938 135. 748
(131) (A) 14. 398 (B) 0. 602 (C) 14. 367 4. 322 140. 070
(132) (A) 14. 383 (B) 5. 090 (C) 19. 455 3.576 143. 646
(133) (A) 14. 367 (B) 19. 455 (C) 5. 096 2.385 146. 031
(134) (A) 5. 021 (B) 5. 096 (C) 0. 601 1.505 147. 536
(135) (A) 5.231 (B) 0.601 (C) 5. 304 1.568 149. 104
(136) (A) 5. 327 (B) 3.233 (C) 8. 524 1.619 150. 723




RERFES

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)

EEYIE| A — /R — L A 978. 932 152. 610 0. 000 0. 000 826. 322
2| /S| E—F & (m) Mz 0miE(m) | miED Ri(m)

(137) (A) 5. 304 (B) 8. 524 (C) 3.232 0.935 151. 658

(138) (A) 3. 176 (B) 3.232 (C) 0. 600 0. 952 152. 610
KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)

HiE SIS A IR 29. 506 0. 000 0. 000 0. 000 29. 506
2| &S| E—F & (m) Hz0miE(m) | miED Ei(m)

At | (256) =5 (A) 4. 290 (B) 9.110 (C) 8. 738 18.510 18.510

(257) (A) 3. 200 (B) 3. 294 (C) 4. 834 5. 239 23. 749

(258) (A) 4. 834 (B) 0. 500 (C) 4. 649 1. 099 24. 848

(259) (A) 4. 649 (B) 2.958 (C) 7.341 3. 561 28. 409

(260) (A) 7.341 (B) 1.424 (C) 8. 741 1. 042 29. 451

(261) (A) 8. 741 (B) 0.013 (C) 8.738 0. 055 29. 506
KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)

FEE AR 152. 610 0. 000 0. 000 0. 000 152. 610
2 | &S| E—F & (m) Mz 0mia(m) | miED Ei(m)

1518 61) =5 (A) 1. 000 (B) 1. 500 (C) 1. 803 0. 750 0. 750

(62) (A) 1.803 (B) 1.000 (C) 1.500 0. 750 1. 500

(63) =5 (A) 1. 174 (B) 0.416 (C) 1.529 0. 144 1. 644

(64) (A) 1.529 (B) 4. 986 (C) 6. 410 1.572 3.216

(65) (A) 6. 410 (B) 4. 986 (C) 11.391 0.953 4. 169

(66) (A) 4.998 (B) 5. 008 (C) 10. 006 0. 000 4. 169

(67) (A) 10. 006 (B) 5.014 (C) 15.017 1. 062 5. 231

(68) (A) 15. 017 (B) 5.014 (C) 20.017 3. 245 8. 476

(69) (A) 20.017 (B) 3.675 (C) 23. 676 3.728 12. 204

(70) (A) 4.995 (B) 5. 006 (C) 10. 000 0. 353 12. 557

(71) (A) 10. 000 (B) 5.011 (C) 15.010 0.613 13.170

(72) (A) 15. 010 (B) 10. 005 (C) 24. 999 5. 477 18. 647

(73) (A) 24. 999 (B) 10. 005 (C) 35. 002 2.958 21. 605

(74) (A) 0. 282 (B) 35. 002 (C) 35. 284 0. 000 21. 605

(75) (A) 5.015 (B) 5.001 (C) 10.013 0.613 22.218

(76) (A) 9. 997 (B) 5. 010 (C) 15. 007 0. 000 22.218

(77) (A) 15. 007 (B) 1.677 (C) 16. 681 0.793 23.011

(78) (A) 16. 681 (B) 0. 287 (C) 16. 959 0. 599 23.610

(79) (A) 10.013 (B) 16. 959 (C) 26. 972 0. 000 23.610

(80) (A) 5. 167 (B) 0.297 (C) 5. 459 0. 144 23. 754

(81) (A) 5.016 (B) 5.016 (C) 10. 028 0.710 24. 464

(82) (A) 10. 028 (B) 5.016 (C) 15. 034 1.943 26. 407

(83) (A) 10.010 (B) 18. 502 (C) 28.512 0. 000 26. 407

(84) (A) 28.512 (B) 0. 600 (C) 28.515 8.553 34. 960

(85) (A) 28.515 (B) 18. 498 (C) 10. 024 4. 300 39. 260

(86) (A) 10. 024 (B) 9. 990 (C) 0. 600 2.995 42. 255

(87) (A) 0. 600 (B) 4. 984 (C) 5. 036 1.494 43. 749

(88) (A) 5. 036 (B) 4. 984 (C) 10. 015 0. 792 44. 541

(89) (A) 15. 034 (B) 10.015 (C) 5. 036 2.536 47.077




Kiak

HE

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)
[ EEEAE 1B 152. 610 0. 000 0. 000 152. 610
2 | &S| E—F & (m) Hz0mia(m) | miED Ri(m)

(90) (A) 5. 036 (B) 4. 984 (C) 0. 600 1. 494 48. 571
91) (A) 0. 600 (B) 0.223 (C) 0. 646 0. 066 48. 637
(92) (A) 5. 459 (B) 0. 646 (C) 5. 143 1. 490 50. 127
(93) (A) 5.113 (B) 0.233 (C) 5. 346 0. 000 50. 127
(94) (A) 5. 143 (B) 5. 346 (C) 0. 642 1.594 51. 721
(95) (A) 0. 642 (B) 1. 603 (C) 2.018 0. 436 52. 157
(96) (A) 26.972 (B) 2.018 (C) 25. 007 5. 966 58. 123
97) (A) 25. 007 (B) 4.990 (C) 20.018 1. 117 59. 240
(98) (A) 10. 003 (B) 4.999 (C) 14. 999 1. 060 60. 300
(99) (A) 20.018 (B) 14. 999 (C) 5. 037 3. 685 63. 985
(100) (A) 5. 037 (B) 4. 985 (C) 0. 600 1. 494 65. 479
(101) (A) 9.995 (B) 9.995 (C) 19. 989 0. 999 66. 478
(102) (A) 0. 600 (B) 19. 989 (C) 20. 008 5. 995 72. 473
(103) (A) 35. 284 (B) 20. 008 (C) 15. 276 0. 000 72. 473
(104) (A) 15. 276 (B) 4. 989 (C) 10. 288 0. 626 73. 099
(105) (A) 10. 288 (B) 4. 994 (C) 5. 307 1.330 74. 429
(106) (A) 5. 005 (B) 0.238 (C) 5. 243 0. 000 74. 429
(107) (A) 5. 307 (B) 5. 243 (C) 0. 603 1.578 76. 007
(108) (A) 0. 603 (B) 3. 605 (C) 3.712 1.081 77.088
(109) (A) 3.712 (B) 4. 986 (C) 8. 683 1. 096 78. 184
(110) (A) 23. 676 (B) 8. 683 (C) 14. 994 1.241 79. 425
(111) (A) 14. 994 (B) 4. 986 (C) 10. 008 0. 000 79. 425
(112) (A) 10. 187 (B) 10. 008 (C) 20. 190 2. 268 81. 693
(113) (A) 20. 190 (B) 4. 992 (C) 15. 202 1. 750 83. 443
(114) (A) 5. 002 (B) 10. 313 (C) 15. 314 0. 628 84. 071
(115) (A) 15. 202 (B) 15. 314 (C) 0.612 4. 589 88. 660
(116) (A) 3.372 (B) 0.612 (C) 3. 543 1.011 89. 671
(117) (A) 11.391 (B) 3. 543 (C) 14. 903 3. 046 92. 717
(118) (A) 3. 508 (B) 5.014 (C) 8.518 0. 547 93. 264
(119) (A) 8.518 (B) 5.014 (C) 13.526 1.315 94. 579
(120) (A) 13. 526 (B) 0.184 (C) 13. 709 0. 130 94. 709
(121) (A) 14. 903 (B) 13.709 (C) 1. 194 0. 000 94. 709
(122) (A) 0. 576 (B) 0. 725 (C) 1.194 0. 153 94. 862
(123) =5 (A) 30. 445 (B) 0. 600 (C) 30. 451 9.133 103. 995
(124) (A) 30. 451 (B) 30. 427 (C) 0. 600 9.123 113.118
(125) (A) 0. 600 (B) 19. 312 (C) 19. 339 5. 791 118.909
(126) (A) 19. 384 (B) 19. 339 (C) 0. 602 5. 810 124. 719
(127) (A) 8. 605 (B) 0. 602 (C) 8.572 2.579 127. 298
(128) (A) 8.572 (B) 8. 489 (C) 0. 603 2. 545 129. 843
(129) (A) 9. 893 (B) 0. 603 (C) 9. 850 2.967 132.810
(130) (A) 9. 850 (B) 9.788 (C) 0. 602 2.938 135. 748
(131) (A) 14. 398 (B) 0. 602 (C) 14. 367 4.322 140. 070
(132) (A) 14. 383 (B) 5. 090 (C) 19. 455 3.576 143. 646
(133) (A) 14. 367 (B) 19. 455 (C) 5. 096 2.385 146. 031




RERFES

KERIL—FEF BEE(m) REBM) | £BERM) | HEEEROD) | #EREmEm)

FEE AR 152. 610 0. 000 0. 000 0. 000 152. 610
2 | &S| E—F & (m) Hz0mia(m) | miED Ri(m)

(134) (A) 5. 021 (B) 5. 096 (C) 0. 601 1.505 147. 536

(135) (A) 5.231 (B) 0.601 (C) 5. 304 1.568 149. 104

(136) (A) 5. 327 (B) 3.233 (C) 8. 524 1.619 150. 723

(137) (A) 5. 304 (B) 8. 524 (C) 3.232 0.935 151. 658

(138) (A) 3. 176 (B) 3.232 (C) 0. 600 0. 952 152. 610
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KIRDIRIE - Tk I tT®I x x x
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(m) (m) (t/m-#0) (m) (#) (t) ([ED) (1) (/) (m)
HRA%
KiEH
REEIE | 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 1 2.0mUTF (1. 1~1. 5 |EEEE
RERUIE| 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 7 2.0mLTF (1. 1~1.5|THEEE
REEUIE|( 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 1 2.0mUT (1. 1~1. 5 |EEEE
RERUIE| 0.25 2.0 0.0118 2.0 16 0.3776 1 0.3776 7 2.0mATF (1. 1~1.5|THEEE
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EHEIE
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1.1~1.5 8.0 ; EfEEs (L&)
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